SEBA Board Class 10 Maths Previous year
Question Paper 2017

2017

GENERAL MATHEMATICS

Full Marks : 80
Pass Marks : 24

Time : Three hours

The figures in the margin indicate full marks
for the questions.
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The number of decimal places after WhICh the decimal

43
expans1on of the rational number '24—-—53 w111 terminate is:
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4. Which one of the following is not a quadratic equation? 1 o
CER (IO fawre Aiwe w@m 7
e R fTare Fawad 732

@i (x-2) +1=2x-3
() x(x+1)+8=(x+2)(x-2)"

(o) x(2x+3)=x"+1

kd) '(x+2)3‘ =x>-4

’ e BD
5. Inthe right triangle ABC, £A=90 and AD 1 BC. Then DC
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The gngle of depression of an object from the top of a tower
of height 75m is 30°. Then the distance of the object from the

foot of the tower 1s : I

751’:“7.@@@@‘ amewwwamm@q 30° | cofeal FSOA
AWKV 219 IWOR 199 23

75&“@5@@@@%@@ (AT TGl @D Iwq TS (I 307 | O
TEHA AMEY (AE IFOI 99 I ¢

(a) 253 m
(b) 5043 m
() 75J3 m

(d) 150m

The area of the circle that can be inscribed in a square of side
6cm is : _ 1

6&@3@35&%3@5%@% 91 GO Fife1 24

6 . AR e feECaR el i I G wiFe wreT

(a) 36rcm’
(b) 187cm®
(¢ 12zcm’

(d) 9rxem’
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10. The volume and surface area of a sphere are equal. Diameter
of the sphere is : 1

GO! (NP SRTSA W% FBIle I 27, (SRR A 2 -
AT TR WS G Ay FAR TTA e e A

(@) 3 units (9F) |
’(b) 6 units (Y3F)
(c) 2 units (93F)

(d) 4 units (93%)

11. Mean or average of 1, 2, 3, 4, .... n is : 1

1, 2, 3, 4, ... n 3 WG A 5T A
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@Rbae ZAIE Fo w0 |
16. If Stanf =4, ﬁnd the value of Sl Al 3)
53m¢9+ 2cos@
zn% Stané? 4. : Ssmé? 30039 %T%T\‘RTI
53m6’+2cos£’
Ssmﬁ 30039
ﬂﬁ 5tan9 4 2q, @lica '
53m¢9+2cos€ ﬁ‘ﬁ]ﬂ?@ﬂ
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Find the number of terms of the following Arithmetic
progressions : 2

TS frall TR elsifersa 59 o Aeay TiFeal
s oreat st asfefba @i oo e grare

Find the ratio in which the y-axis divides the line segment

joining the points (7,3) and (-4,5). Also find the coordinates

of the point of intersection. 2

(7,3) ©F (-4,5) 7™ @M @2, ymﬁs‘ﬂ?j"fm 5l Bq?

Wﬁm EARIGAE %%\‘33“

(7,3) 9K (-4,5) [ @M @AE y-orF ﬁs SEAIS S B |
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17. Prove that : \E+sm¢9 L Slng;Qsecﬁ

siné@ 14508

ol T T - smB \F sind ~ 3 Eetd
1- smH + sinf

S B & L 1-sin0 _5seco
1- sm@ +sm9

sin30° +tan45’ - cosec60’

18. Evaluate :

sec30° +cos60° +cot45’
 ‘ . sin30° + tan45° — cosec 60’
T e == -
| sec30° +cos60° +cot4S
.
I ;i sin30° +tan45’ —cosec60’ -
W= a3t ‘

sec30° + cos60° +cot 45Y

19. A die is thrown once. Find the probability. of getting

(i) a prime number
(i) a number lying between 2 and 6.

ot qquef «am MR s R
| () 451 G TR
(i) o oF 6 I WEF €l TR
W‘H@ﬁ"iﬁﬁw|-
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SECTION-C

Find the zeros of the following quadratic polynomial and verify
the relatlonshlp between the zeros and the coefficients. 3

o RIS PSR MR SRS S G AR WF TR A

T TN B |
frpa fare 2ot *eyete FefE T @R aﬂ?*ﬂ@m g3 THiafEE W

oS oS Il

6x%—-32Tx

Draw the graphs of the equations 5x-y=5 and 3x-y=3
and solve the equation with the help of graphs. s 3

AR Sx -y =5 TF 3x -y = 3 I (T TP WAF (4T FITS T
wG! AL 1| -

A Sx—y =5 @R 3x -y =3 T (FT TP GR (TR AT FA
yfod AL I | g J |
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22. Find the roots of the following quadratic equatlon

W%ﬂr—ﬂﬁﬁmcmaqaﬁcﬁw

O%° =743 =0

23. The sum of the reciprocals of Kuwali’s age (in yeafS) 3 years

ago and S years from now is 5 Find her present age i3
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24. The sum of first 20 terms of an AP is 400 and that of 40 terms
is 1600. Find the sum of first 10 terms and that of n terms.
)

GOl TR AT AT 20T1 21 @9TA 400 T AT 4051 W (l5eT
1600 | 2 106! S A4 nBl *M9 @oITe Seed |

GF ANE oeifen 224w 207 ot Q@erwe 400 @32 299 400 #T@
@NFA 1600 | 24245 100 @3g °4299 n oo st [efw F@t |

Or / "33 / 943
: ' ~ a(b+c) b(c+a)
If a, b, ¢ are in A.P, then show that ; . and
bc - |
c(a +b) :
are also in A.P.
ab ‘

a(b+c) b(c+a)
Sibadyl i cg

I a, b, c AN Aifoo R (0% e (3,

c(a+b)
ab:ig.

@ AN9E afew Stz |

q(b+c), b(c+a)

M @, b, ¢ I AT AT, O (RS @A o T

b . .
G ———*C(a; ) @ e Aoifere SitR|
a : .

125 Thé perpendicular from A on the side BC of a AABC intersects

BC at D such that BD =3CD. Prove that 24B? = 2AC> + BC’
i | .
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AABC 3 A7 *RI BC 3 o S sgeia BC e D Ko FI 0
BD=3CD | @i 31 @ 2AB2 =2AC? + BC?

AABC 3 AT (0F BC 3 B wfEe 779s BC IS D LS 9ol
2
(1 I WS BD=3CD | o914 F@ @ 2AB2 =2AC* +BC

}"3 26. Find the area of the triangle formed by joining the mid-points
| of the sides of the triangle whose vertices are (4,2), (-2,0)
and (2, 6). | 3

[ ‘ 4,2), (-2,0) == (-2, 6) MR @i oifys fagenom A=REIe
- GRT (@1 WA IR 1 31 TgeR wifF e

; - (4,2), (-2,0) @ (2, 6) TRepef T ie fageia Irefw
| TGRSR AR arl e fagaa wifF Rda @

27. A chord of a circle of radius 15cm subtends an angle of g0°
at the centre. Find the areas of the corresponding minor and
major segments of the circle. [ use 7=3-14 and V3 =1. 73]

: _ 3
i's&ﬁaﬂw’w—aﬁwwmﬁmww’ I By & |
T OIF (T JeLeT Fife Wefa w1 [ 7= 314 W V3=1.73 IR2M
Q]

15 A, IPICER <ol qrad ool ot e @we 60° camcﬁswm(
~W‘ﬂq\cﬂiﬁ§’@ﬂt@3¢ﬁﬁﬁwuﬁ 314 aa\f 173w
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SECTION-D

28. Solve the following pair of equations by reducing them to a
pair of linear equations. 4

©o TR ARE TN T SR AL 9 |
A AT (@R ATFA TS I AN A |

5
+ ! s 2 6 ___ =2 =1
x-1 y-2 g x-1 y-2

Or / #1237 / &l

2 women and S5 men can together finish a work in 4 days,

while 3 women and 6 men can finish it in 3 days. Find the

time taken by 1 woman alone to finish the work, and also that

taken by 1 man alone.

2 Tl W2 WF 5 T A GO I 4 e (<17 1 {171, TS (312 IO
3 Tl AT O 6 T A 3 MO (1 I A | GEel AR SR
Rl e (12 0! (17 I AN WF GO 20 e i e
FINCH! (1T IR AN e |

0 T W @32 5 T AT GI G 4 M (¥ T A, @IE 73
G 3 T W &R 6 T FT 3 M (o 0O AR | e Wz
aﬂr%ﬁaﬁ?@mwmaﬂ\ﬂwwa@rﬁﬁﬁ

FET T e A [T T |
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- milar triangles is
ding sides.
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29. Prove that, the ratio of the areas of two s
equal to the square of the ratio of their correspon

o 31, T T g TR e i R 1 SR e O
e ANS N |

A TR @, 7 T Rrgrew iR e ge 109
- AR AT FI | R

Or / %31 / &%l

‘uﬁ% W 2&3%

|
! Altitudes AD and CE of AABC intersect each other at the
|

i - point P. Show that

I () AAEP ~ ACDP - (i) AABD ~ ACBE
?} (i) AAEP ~ AADB (iv) APDC ~ ABEC
f ABC 5" AD W% CE Taf qurE +<~R" P Rqe & [ (s
FETS ‘
() AAEP ~ ACDP (i) AABD ~ ACBE
(iii) AAEP ~ AADB (iv) APDC ~ ABEC
‘ ABC f#ere3 AD &% CE 7% 46 *R>@ P Fe (&1 71e @
(i) AAEP ~ ACDP (i) AABD ~ ACBE
(iii) AAEP ~ AADB (iv) APDC ~ ABEC

T

Tk
-

30. From the position of a person standing on the bank of a river,
the angle of elevation of a tree on the opposite bank is 60°.
When the person retreates 20m from the bank, the angle of
elevation becomes 30°. Find the height of the tree and the

breadth of the river. | 4
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e Qulera T (@S 600 | WL G 1A #laa Hal 20554 fAgald eiee
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31. Prove that the lengths of tangents drawn from an external
point to a circle are equal. 4

el @4l (1 @51 Afzfava A gEs Bal eeEEEa (A T |
sl gl (1 Gafb Az (s 9@ o Bl fmafia trd A |

Or / 727 / Gl

A circle is inscribed in a AABC having sides 8cm, 10cm
12 em as shown in the following figure. Find AD, BE and CF.

451 92 A (746 44t AABC A AGAL ™o 3 et | 3 ATALA
@4 8c&fi, 1008 @@ 12(%f 2, (Se' @ AD, BE %% CF. (Gi¥
fef @ |

firwa Bra 9o 96 AABC 7 are 2ufbeas »»pf ata it | 7 areafba e
8, 10017 432 1231 2, $12A AD, BE 44k CF 7 1ol e acal |
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| 32. Construct an isosceles triangle whose base is 8 cm and altitude

\ 4cm and then another triangle whose sides are 15 times the

corresponding sides of the isosceles triangle. Mention the st€ps
of construction. - 4

8Qﬁ_ﬁm4@ﬁ%ﬂ?ﬁﬁﬁaﬁﬂvm%ﬁw\@$ﬁw@ﬁ

fagw w\wwwﬁwﬁ—ﬂwmwﬂw 1o
| WS DIAEIR e R4l |

| 8 G O @R 40If Tvel AR ool T gs S E S
G fage Sic o= afsf Iz Te e Toaba wgmel A= 11 o 271
TR Qi T @ |

SECTION-E

33. A farmer connects a pipe of internal diameter 20cm from a
canal into a cylindrical tank in his field, which is 10m in
diameter and 2m deep. If water flows through the pipe at the
rate of 3km/h, in how much time will the tank be filled.

S

qo (AT (9€F AT & 1074 TP T 27, TSIOR OBl (@E -

wIPfeT GRITIN #1970 20 (& 3. fooIFR GO {25t <Bi et Fore Feras)

<R ficet | A 3 /5 / 990 T #BAE AN & AW (S0 SIS
e e AN e 2

G O Ol SRCS AP 107 TJFT G 2 TSROR 7B o
SPpfen (SR A 20 FLA. SES! PR G +iizst @ Aremm iz
H\mﬂwﬁanﬂﬁsﬁﬁ/ﬂ@mﬁﬁﬁrwmmmcﬁm
©f% e F© AAY AR ?
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Or / %3 / 9331

From a solid cylinder whose height is 2-4cm and diameter
1-4cm , a conical cavity of the same height and same diameter

1S hollowed out. Find the total surface area oi the remaining
solid to the nearest em?.

2-42N. Twol W 1-4@ IHEREY @B ¢iF @R o[ ’fm
%sb—wmawwxf@wﬁmmwremmzmm“g CAIOR
I TRAT SaATe [T 91

2-4Tf. THSl G2 1-4 G IORES OB G GEER @ o6

4T THOR R I3 QOR 7 AFrea (Ve W @@ = 2| SIS
(SIoT T@oa sppifer 797 i s fef

34. Draw an ogive and the cumulative frequency polygon for the
following frequency distribution by less than method.

OIS AR RSET #91 Srele T 2T bl o fore wis e I
IS I | :

o9 TS ROTER (AF TR (A TV A/EE IFH SIS R
HET IR LT S

0-10]10-20|20-30]30-40]40-50 [50-60 ‘
7 ek 23 5] 16 3 2
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